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QUESTION 1

Which of the following explains the key difference between an EULA and terms and conditions? 

A. Terms and conditions clarify what services a company agrees to offer the user. 

B. Terms and conditions are not legally binding. 

C. An EULA can only be accepted by an attorney. 

D. An EULA, upon acceptance, grants the user full copyright to the product and/or service. 

Correct Answer: A 

 

QUESTION 2

A replay attack would be the primary concern of: 

A. availability. 

B. authentication. 

C. confidentiality. 

D. integrity. 

Correct Answer: D 

 

 

QUESTION 3

A technician overhears a systems administrator mention the term `IOPS`. To which of the following operating system
functions would the term BEST apply? 

A. Disk management 

B. Process management 

C. Application management 

D. Service management 

Correct Answer: A 

 

QUESTION 4

Given the pseudocode below: 
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Which of the following inputs will result in a TRUE for pizza and party? 

A. Red = TRUE Blue = FALSE 

B. Red = FALSE Blue = FALSE 

C. Red = FALSE Blue = TRUE 

D. Red = TRUE Blue = TRUE 

Correct Answer: B 

if red is false, party = True, then runs the other condition: if blue is false, pizza = True 

 

QUESTION 5

In which of the following categories do smart devices belong? 

A. Appliances 

B. Multifunction devices 

C. IoT devices 

D. Mobile devices 

Correct Answer: C 
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